Q. P. Code: 23096

(2.5 Hours) [Total Marks: 75]
N. B:
1. All questions are compulsory
2. Use of Calculator is permitted
3. Cellular phones are not allowed
1. CASE STUDY: (15)

Create a Media Plan for Titan wrist watches both for men and women. Price is in the range of Rs
2500 to 35,000. The schedule will last two months. The advertisements are in colour. The budget
for the print campaign is three crore (30000000).

Size:

Magazine: Single and/ or double spread

Newspaper: Half page

Use rate card given below

Dallies Readership Rates (in | Magazine Readership | Rate ( Full
000’s sg cm) 000”’s page)
colour

The Times of 7965 4238 India Today (W) 6471 710900

India

DNA 810 2123 Vanitha 2829 660000
(Malayalam) (F)

The Hindu 3732 1770 Karmasangsthaan 682 309,000
(Bengali) (W)

The Economic 1535 2600 Business India (F) 654 395,000

Times

Lokmat 5887 691 Business Today (F) | 815 465,000

(Marathi)

Eenadu (Telugu) 1670 1350 Saras Salil (F) 1365 326000
(Hindi)

Anandabazar 5653 870 Mathrubhumi (W) 897 203,800

Patrika (Bengali) (Malayalam)

Deepika 8691 845 Femina (F) 309 780,000
(Malayalam)

Dainik Jagran 21241 3260 Meri Saheli (Hindi) | 634 2,44,000

(Hindi) (M)

Nava Bharat 11398 1250 Grihalaxmi 750 640000

(Hindi) (Malayalam) (M)

Rate: Quarter page size equals 400 sg.cm. (25 cm (h) x 16 cm (w)

2 Attempt any one between 2a.1 and 2a.2. along with 2.b
[i.e. (Attempt either 2a.1 OR 2a.2 for 8 marks) and 2.b. for 7 marks]

2a.1 Answer the following:

(8)

Media 1: Reach = 48 %, Frequency =9, TPC = 8, 91,000, AEC = 61,000
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Media 2: Reach = 70 %, Frequency =5, TPC =6, 44,000, AEC = 32,000

Find the % TA, GRP and CPRP for Media 1 and Media 2

2a.2 Answer the following

Q. P. Code: 23096

(8)

61,000 people see an advertisement 3 times, 51,000 see an advertisement 5 times and
76,000 people see an advertisement 6 times. Universe is 344,000. Total Cost of

Advertising is 85,000. Find Reach %, GVT & CPT.

2. b. Find the average frequency of the advertisement in the magazines using the data

given below:

(7)

Readership: Magazine A= 58,000, Magazine B= 67,000, Magazine C = 89,000

Duplication of Magazine A, with Magazine C = 4,000,
Duplication of Magazine B, with Magazine A= 7,000
Duplication of Magazine C, with Magazine B= 4,900,
Insertions: Magazine A= 4, Magazine B= 3, Magazine C = 2

OR

2. Write detailed note on media planning Process

3. a. Explain the following concepts:.-
i. Reach

ii. BDI

iii. CPRP

iv.  Spot buys

b. Discuss the factors affecting choice of Magaziner buying
OR
3 a. Explain the following concepts:-
i. OTS
ii. Pay-per-click (PPC)
iii. BARC
iv. Circulation
b. Discuss Email marketing

4. Answer the following:
a. Write a note on Programmetic Buying
b. Advantages and disadvantages of television Buying
OR
4. Answer the following:
a. Write a note on New Consumer Classification System (NCCS)
b. Write a note on Media Brief

5. Write short notes on (any 3)
a) Media Objectives
b) Affiliate Network
¢) Media Mix
d)  Role of Media buyers
e) Media Scheduling Strategies
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